HYDRAULIC ROTARY VALVE

RV

Hydraulic

Rotary valve is used for clamping cylinder on rotary table.
Through unique design, it can make the rotary housing be rotated light
force and is free from oil leaking.

e | Typeis a single circuit which controls the clamping.

e |l Type is a double circuit which separately controls the clamping.

m  Thedrain port of RV type should be independently connected to oil tank
to avoid back pressure.

4~M8 2x4~RC1/4

B Screw hole Distributing port ~ 4~M8x11
I — — RC1/4
‘%:‘[J ﬂﬁ” j/ Drain Port
i ‘ ‘ ;’:{f,
< = B 1
S of t—— —— 2
ST 77{; Q
T =
=
— f 1
T s
5 12_ 40.5 | 25 | 18 2(4)~RC1/4
136 Pressure Port I 1
Subject to technical changes
SPECIFICATIONS
o Max. pressure Weight
M | D
ode istributing MPa(kgf/cm?) ke
RV-31H 4 ( by order) 4.0 (40) 7.4
Note: RV can be custom-made.
’ RV-A AIR ROTARY VALVE ar
4~M8 2x4~RC1/4
Screw hole Distributing port
T 2~M8x11
& HH e
| | —
=
1l 77 L5
2 % oW S -
al 8 A 7£5 =
U | ]
=
— : { — { : — 2(4)~RC1/4 8
’i’ Pressure Port ;
5 12\ 375 | 25 18 E
125 I I E
m
wn
>
=
o
)
Subject to technical changes 5
SPECIFICATIONS o
‘ o Max. pressure Weight
‘ Model Distributing MPa(kgf/cm?) ke
‘ RV-A31H 4 ( by order) 0.8(8) 4.8

Note: RV-A can be custom-made.

WWW.AUTOGRIP.COM.TW

AUTOGRIP 80



COOLANT ROTATING JOINT

e Coolant joint for high speed, high pressure. Usable for oil and water-soluble
coolant.

Seal bushing inside is made of cemented carbide and ceramics, which
provide higher wear-resistance.

The joint should not run without liquid through coolant port.

M16x1.5 LH
(or 5/8-18UNF - LH)

g6

‘ ‘ 016.65

28
048

D~
e H . ©
D

&
\%

L AN

RC1/8(Dr) g ” ‘ n 19
|
. 30 | ! 12 5] 15
45 c1ad 1
RC1/4(IN) of 65
T
122
Subject to technical changes
SPECIFICATIONS
Model PV Limit value Max. pressure Delivery amount Max. speed Weight
(MPa-r/m) MPa(kgf/cm?) (at 50 kgf/cm?) min?(r.p.m.) (kg)
RJ-80 14400 6.0(60) 28 I/min 8000 0.5 ‘

COOLANT ROTATING JOINT WITH AUTOMATIC ON/OFF SEAL

& RJ-90

e Coolant joint for high speed, high pressure. Usable for oil and water-soluble
coolant.

e Seal bushing inside is made of cemented carbide and ceramics, which
provide higher wear-resistance.

e The seal will depart automatically if no liquid passes during operation and
will not be dmaged due to dry touching.

®  Min. pressure is 4kgf/cm?2.

RC1/4(IN) © M16x1.5 LH
[}

7D
==

08

: ‘ 016.65

230

|
-

950

RC1/8(Dr)

16 24 12 20

Pl
el
>
=
=
<
=
<
m
w
>
2
O
S
2
_|
wv

117

Subject to technical changes

SPECIFICATIONS
Model PV Limit value Max. pressure Delivery amount Max. speed Min. pressure Weight
(MPa:r/m) MPa(kgf/cm?) (at 50 kgf/cm?) min™(r.p.m.) MPa(kgf/cm?) (kg)
RJ-90 17500 7.0(70) 28 I/min 10000 0.4(4) 0.5
81 AUTOGRIP WWW.AUTOGRIP.COM.TW



’ SJ STANDARD SOFT BLANK JAW(])

—

S-1

s-6 57 s-8 52

S-11

wr
o) 0
s-9 \ M S-4
Subject to technical changes U:':M
DIMENSIONS S-12

S-3

3 Jaw Weight
MODEL S-1 | S-2 S-3 sS4 S5 S6  S7 | S8 S9 S10 S-11  S-12 | S-13 | Serration Pitch Matching Chuck ke
SJ-04 52 23 23 10 5 10 14 28 9 14 13 | M8 3 1.5x60° 3H-204, 3P-04 0.5
S-05 62 25 30 10 5 10 14 38 9 14 18 M8 35 15660° b oo hroe’ 0.8
o 3H-206, 3L-206
SJ-06 73 31 36 12 5 15 20 38 11 17 24 'M10 14 1.5x60 3p-06, 3M-06 1.5
o 3H-208, 3L-208
SJ-08 95 35 37 14 5 24 25 46 13 | 19 22 M12 16 1.5x60 3p-08, 3M-08 2.4
o 3H-210,3L-210,
SJ-10 110 @ 40 42 16 5 30 30 50 13 | 19 27 'M12 18 1.5x60 3p-10, 3M-10 3.7
o 3H-12, 3H-212, 3L-212,
SJ-12H 130 | 50 50 21 5 40 30 60 18 26 33 Mil6 23 1.5x60 3V-12, 3P-12, 3M-12 6.3
SJ-12p 130 | 50 50 18 5 40 30 60 16 23 33 M14 23 1.5x60° 3P-12 6.5
SJ-15H 165 | 62 62 22 8 37 43 85 21 32 38 M20 - 1.5x60° 3H-15, 3H-215, 3H-18 12.6
3H-15, 3H-215, 3H-18,
SJ-15pP 165 | 62 62 | 255 8 37 43 85 21 32 38 M20 - 1.5x60° 3L-15, 3P-215, 3P-218, 12.5
3Vv-15, 3v-18
3H-221, 3H-224,3H-232,
SJ-21 180 | 65 70 25 9 40 60 80 21 32 45 'M20 - 3.0x60° 3P-221, 3P-224, 15.8
3V-21, 3V-24, 3V-32
STANDARD SOFT JAW FOR 3U CHUCK
F ‘Eﬁ ‘Lﬂ L
7 ——— X
- x 5F
(@] ] . )
g &
N~ -
G < S 1
. =
for 3U-203
Subject to technical changes
DIMENSIONS
MODEL A B C D E F G H J K L
3U-203 5.5 11 9.5 66 12 Cc3 7 3 26 7 15
3U-204 6.6 11 11 84 17 ca 11 3 32 9.5 20 =
o)
3U-205 9 135 14 108 20 c4 12 3 41.5 13 24 7
>
3U-206 11 15 17 129 30 Cc6 20 3 50 17 30 %
3U-208 13 17 20 156 34 Cc6 22 3 63 20.5 35 5
3U-210 15 20 22 187 39 Cé 24 4 74 23 40 Q
o
3U-212 15 18 22 234 44 Cé 29 4 72 23 40 %
wn

WWW.AUTOGRIP.COM.TW AUTOGRIP 82



Y &3

STANDARD SOFT BLANK JAW(II)

STANDARD SOFT JAW FOR 2D/3D CHUCK

e

N

>,

]

J
- | J| K
D D
QE L QE L
| ) | Il Il Il
m QF { | ' '
<| o &Fi 2l < gEL |
u L |
sl N [T T T_| Z
-— -— 1t
G [H M
for 04"~06" for 08"~15"
Subject to technical changes
DIMENSIONS
MODEL A B C D E F G H J K L M N
3D-04 22 13 2.5 52 17.5 11 15 8 19 - 25 8 5.5
3D-05 27 15 2.5 56 20 13 19 8 23 - 30 8 5.5
3D-06 34 21 3 70 23 15.5 22 10 27 - 35 10 6
3D-08 44.5 29 3.5 84 19 13 25 12 18 26 40 10 7
3D-10 49.5 32 3.5 100 22 15 30.5 15 22 32 50 18 7
3D-12 54.5 36 3.5 120 26 18 335 17 24 36 60 20 7
3D-15 65 40 5 165 26 18 50 20 40 40 70 24 10
STANDARD SOFT JAW FOR 3E CHUCK
A G
A G
2B
| 1 D \
3 I -
D I - —
[ || Q1@ @
‘ F X -~ &‘j (] «
_' —
1 Jec o) 5| S| F Y w
\ Q| @ |0
——— — = o o ol
E | |
TYPE A TYPE B
Subject to technical changes
DIMENSIONS
MODEL A B C D E F G H J K L L1
TYPEA 20 11 6.6 16.5 10 Cc5 25 22 29 34.5 39 -
3E-05
TYPEB 20 11 6.6 15 25.5 C5 25 30 29 42.5 39 69
TYPEA 23 11 6.6 19 13 Cc5 31 27.5 44 46 54 -
o 3E-06
,3; TYPE B 23 11 6.6 18 36 Cc5 31 37.5 44 56 54 92
_|
‘; TYPEA 30 14 9 25 15 C6 35 36 50 56 62 -
% 3E-08
> TYPEB 30 14 9 24 41 C6 35 56 50 76 62 112
(@)
a TYPEA 35 17.5 11 26.5 17.5 c5 40 40 60 64.5 70 -
il NEW 3E-10
= TYPEB 35 17.5 11 26 47.5 C5 40 71.5 60 96 70 129
a
83 AUTOGRIP WWW.AUTOGRIP.COM.TW



’ SJ STANDARD SOFT BLANK JAW(II)

STANDARD SOFT JAW FOR 3R CHUCK

M N
D R
?E ‘ ‘
1 &
|
wl [[ZEf] ] ] \
< T O,
L - — | =]
© G |H ‘il -
J
Subject to technical changes
DIMENSIONS
MODEL A B © D E [F G H J K L M N P Q R S T

NEw 3R-08 295 13 35 82 20 14 21 12 55 30 5 14 26 90 2 40 16 7

NEw 3R-10 305 15 35 | 102 @ 23 16 295 15 65 30 7 21 32 90 2 40 18 7

STANDARD SOFT JAW FOR 3W CHUCK

o ©
+
1
M N M N
D D
oE, L oE L
} \ \ | i |
<m JF | | <@ QJF | |
L | | | |
e ad N = ‘ T o L
o g H Pl O oLH Pl
TYPE A TYPE B
Subject to technical changes
DIMENSIONS
il
A B C D E F G H J K L M N P Q R S
MODEL
AE 60 44 3.5 80 20 13 35 1268 30 120 57 16 38 | 7.94 7 - -
NEW 3W-08
B &Y 60 48 3.5 80 17 11 35 1268 30 120 57 19 32 | 7.94 7 125 32 -
>
AR 64 | 495 35 100 20 13 40 [19.03 30 120 70 | 17.8 444 127 7 - - 5
NEW 3W-10 JZ>
B &Y 64 50 3.5 100 17 11 40 [19.03 30 120 70 22 36 | 12.7 7 17 36 o
>
(@)
AR 64 | 495 35 100 20 13 40 [19.03 30 120 70 | 17.8 444 127 7 - - Q
NEW 3W-12 @
B &Y 64 50 3.5 | 100 17 11 40 [19.03 30 120 70 22 36 | 12.7 7 17 36 g
m
wm

WWW.AUTOGRIP.COM.TW AUTOGRIP 84



’ SJ STANDARD SOFT BLANK JAW( IV)

STANDARD SOFT JAW FOR 3MF CHUCK

Subject to technical changes

DIMENSIONS
MODEL A B c D E F G H ] K L M N 3Ja"‘(k"f’g)eight ‘
NEW 3MF-20 70 48 6 160 25 17 M16 19.03 | 41.9 76.2 50 12.7 115 10.4 ‘
STANDARD SOFT JAW FOR AP CHUCK
S-1
S6 , S-7 S-8
| | S-2
= - Ts4o |
L AT -
| b S |
" » O 717 I
A e
“ rﬂ A NDT— S|4
Il I S_g -
S-12/7 \m
Subject to technical changes
DIMENSIONS
MODEL s1  s2 | s3 s4 S5 S6 | S7 S8 S9 S10 S-11  S-12 Serration Pitch Matching Chuck 3 Jaw Weight
SJ-145 165 62 62 255 9 37 43 | 8 | 21 32 38 M20 3.0x60° AP-145, AP-185 12.2
SJ-185 165 62 62 255 9 37 43 | 8 | 21 32 38 M20 3.0x60° AP-145, AP-185 12.2
SJ-230 180 64 70 255 9 40 | 60 | 80 @21 32| 45 M20 3.0x60° AP-230, AP-275 16.1
SJ-275 180 64 70 255 9 40 | 60 80 @ 21 32| 45 M20 3.0x60° AP-230, AP-275 16.1
SJ-320 210 75 80 | 30 9 40 | 60 110 26 38 55 M24 3.0x60° AP-320, AP-375 24.7

©
=
=
—
v
>
=2
O
>
(@]
(@]
m
wn
14}
o
22
m
wn

85 AUTOGRIP WWW.AUTOGRIP.COM.TW



STANDARD HARDENED JAW(l)

[sed
T
(A A AN AN AN S
SNAS G )=
H-7 H-7 H-7 H-
-
g H-1 H-1
= H-6 H-8 H-6 H-8
T H-2
_/—"/‘—’—'_Fr ~— —! =
I . Tl
«@ H-10 @ ’ ‘ H410 p= ===
* :I I I s iir Sk
I s i Tl oo | HE
o L —= £ [ W) I'; o
H12 7 | H-9) \ Serration H12 7 | La] Serration H-4
Subject to technical changes Fig. 1 Fig. 2
DIMENSIONS
. 3 Jaw Weight
MODEL | H-1 H-2 H3 H4 HS5 H-6 H-7  H-8 HO H-10 H-11 H-12 H-13 Se{,fat"’“ Matching Chuck W TeEM Reference
itch ke Drawing
HJ-05 53 123 128 10 4 30 14 23 | 85 135 10 M8 6 | 1.5x60° |3H-204, 3H-205 1 Fig.2
HJ-06 67 31 36|12 5 385 |20 285/ 11 17 12 [M10 10 1.5x60° 3H-206, 3P-06 1.7 Fig.2
HJ-08 8 35|51 14 |5 32 25 18 13 | 19 12 M12 12 | 1.5x60° 3H-208, 3P-08 2 Fig.1
HJ-10 102 | 40 54 16 5 39 30 23 13 | 19 13 M12 16 | 1.5x60° 3H-210, 3P-10 3 Fig.1
o |3H-12,3H-212,3L-212, .
HJ-12H 103 | 50 52 21 5 625 30 405 17 25| 17 M16 30  1.5x60 3v-12.3P-12,3M-12 3.5 Fig.2
HJ-12P 103 50 | 52 18 5 625 30 [40.5 15 | 22 17 M14 30 1.5x60° 3P-12 3.6 Fig.2
HJ-15H 149 | 62 86 22 8 63 43 | 34 21 32 | 20 M20 43  1.5x60° 3H-15,3H-215, 3H-18 9.6 Fig.1
. |3H-15,3H-215, 3H-18, .
HJ-15P 149 | 62 86 25,5 6 63 43 34 21 32 20 M20| 43 | 1.5x60 3p-215, 3P-218 9.5 Fig.1
. |3H-221, 3H-224,3H-232, .
HJ-21 1595 80 90 25 9 1045 50| 55 21 32 40 M20 55  3.0x60 3p-221, 3P-224, 3V-32 14.3 Fig.2
STANDARD HARDEN JAW FOR 3MF CHUCK
LA AT
g S S % T
H-7 H-7
H-1
H-6 H-8 H-2
|
i H110 i I
T = =
«? | =
T I
3 L5
T T |5
1 ’ ==
H-15 H-9 H-4
H-12 i -
Subject to technical changes ;)S
_|
DIMENSIONS ;
) =2
Model | H-1  H2 H3 H4  HS5 | H6 H7 H8 H9  H-10 | H-11 H-12 H-13  H-14 H-15  Matching Chuck 313“’(&’;)‘-'@” g
(@)
(@)
NEw 3MF-20 135 50 76 | 12.7 9 70 | 38.1| 65 17 26 40 | M16 @ 40 32 19.03 3MF-20 6.7 ‘ E
2
a

WWW.AUTOGRIP.COM.TW AUTOGRIP 86



STANDARD HARDENED JAW(lI)

Yy A3

STANDARD HARDEN JAW FOR AP CHUCK

Clamping range H-7 | H-7
H-2
1 ; l
’ l b HE{E(E
L » 1 S (0]
‘ A bl I ) :I'::l':
= LI,
| g | l J )
:-_ m— ) |
- H-6 -4
<
H-1
Subject to technical changes
DIMENSIONS
Model H-1 H-2 H3 H4 | HS5  H6 | H-7 Al S Serration Pitch Matching Chuck 3 Jaw Weight (kg)
HJ-145 191 55 73 255 9 92 38 28-120 420 3.0x60° AP-145 12.5
HJ-145 191 55 | 73 |255| 9 92 38 28-155 460 3.0x60° AP-185 12.5
HJ-145 191 55 | 73 255 9 92 38 60-235 535 3.0x60° AP-230 12.5
HJ-145 191 55 | 73 |255| 9 92 38  105-280 | 580 3.0x60° AP-275 12.5
HJ-320 243 75 | 82 | 30 9 | 110 50 | 100-295 658 3.0x60° AP-320 24.6
HJ-320 243 75 | 82 | 30 9 | 110 50 | 175-375 738 3.0x60° AP-375 24.6
©
>
B
_|
n
>
=
o
>
0
@)
a
O
o
=
a
87 AUTOGRIP WWW.AUTOGRIP.COM.TW



s
a» &7l =
218 SRS 2:

|
—]
| 77
Al
7,

o ()
=4 ‘ =
i T2 T T2
TN1 TN2
TN3-221
- = i
(i 2\ S
A= \ > [ =l
4€>L S5 il R
LR o 4> TN4-221 8
oT1 T4
OT1 T4 T4
T . |
L1 e H N T T
[ ~
w\,{ O I ® I I I Il F o
° s = 1l 1l I I ~
\e- 11
|oTs | T2 L I
TN3 TN4 TN5
Subject to technical changes
DIMENSIONS
3 Jaw Weight
Model @ T1 T2 T3 T4 T5  T6 T7 T8  T9 TI0 Til Matching Chuck

kg

3H-204, 2H-204, 3P-04, 2P-04, 3H-205, 2H-205,
TN1-04 | 26 | 14 | 15 ) 10 | 14 ) 6 | 95 M8 5 " 7 3pP-05, 2P-05, 3L-205,2L-205, 3M-05, 2M-05, SP-304 0.06
3H-206,2H-206,4H-06,RAP-306,

TN1-06 | 36 17 185 12 20 | 8 | 11 M10 6 - - | 3P-06,2P-06,3L-206,2L-206,1L-06,3M-06,2M-06, 0.15
3N-06,5P-306, AP-52
3H-208,2H-208,4H-08,RAP-308,
TN1-08 |46.5 20 205 14 25 105 12 M12 10 - -  3P-08,2P-08,3L-208,2L-208,1L-08,3M-08,2M-08, 0.27
3N-08,4T-08,5P-308, AP-66
3H-210,2H-10,4H-10,RAP-310,

TN1-10 | 51 22 215 16 30 11 13 M12 11 - - | 3p-10,2p-10, 3L-210, 2L-210, 1L-10, 3M-10, 2M-10,  0.36
3N-10, 4T-10, SP-310, AP-86

TN1-12 555 295 28 21 30 12 167 M16 13 - - | 2H-12,3P-12,2P-12,21-12,3M-12,2M-12 0.63

TN2-12 555 295 28 21 30 12 167 M14 13 18 45 2H-12,3P-12,2P-12,2L-12,3M-12,2M-12 0.63
3H-18,3H-18B,2H-15,4H-15,4H-18,

TN1-15 80 35 39 255 43 17 20 M20 14 - -  3p-2153P-218,2P-153L-15,21-15,3M-215,3M-218,  1.53

3V-15,3V-18,4T-15
3H-18,3H-18B,2H-15,4H-15,4H-18,

TN2-15 80 | 35 39 255 43 17 20 M20 14 22 6 3P-215,3P-218,2P-153L-15,2L-15,3M-215,3M-218, 1.5
3v-15,3v-18

TN1-212 56 295 235 21 30 12 12 M16 10 - -  3H-12,4H-12,3H-212,3L-212,3V-12,4T-15 AP-115 0.63

TN2-212 56 295 235 21 30 12 12 M14 10 18 4  3H-12,4H-12,3H-212,3L-212,3V-12,4T-15 AP-115 0.63

TN1-215 80 35 34 255 43 17 19 M20 14 - - | 3H-15,3H-215,3L-215 1.32

TN2-215 80 35 34 255 43 17 19 M20 14 22 6  3H-15,3H-215,3L-215 1.29 2
e

TN3-21 46 375 45 25 26 - 26 M20 - | - -  3P-221,3P-224,3M-221,3M-224,3V-21,3V-24,3V-32  1.84 =

TN3-221 45 36 38 25 28 - 22 M20 - - - | 3H-221,3H-224,3H-232 0.69 %

TN4-221 45 36 38 25 28 - 22 M20 19 - - | 3H-221,3H-224,3H-232 0.63 §

TN5-185 32 | 35 30 255 - - 19 M20 - - - | AP-145 AP-185, AP-230, AP-275 0.15 a

TN5-320 36 42 39 30 - - 24 M24 - - -  AP-320,AP-375 0.24 %
0

WWW.AUTOGRIP.COM.TW AUTOGRIP 88



’ FL CHUCK ADAPTORS
z 3"
)’ m

£l
4 lo
Q‘ J
7 J
0
J, J 2
U Counter Bore U Counter Bore U Counter Bore
7°7'3 0'%> J == 7°7'30"J{:>> \@
7°7'30"1/:> T
Al Al| + Al| —
1 lal o 1llalo al o] <
8l 8 Q| & a8 SRS 88 SIRSIES]
—h —
. | e
-\ | E
JE« L Screw hole @ L Tap hole E1 L Tap hole
Subject to technical changes M FL2 FL3
DIMENSIONS
Model Al C| D D1 D2 |E|E1 | L | U Remark W(T(Lg)ht
FL3-04A4 110 85 70.6 63.513 82.6 8 28 M10 M10 3H-204, 2H-204 1.12
FL3-04A;5 140 85 70.6 82.563 104.8 5.5 32 'M10 M10 3H-204, 2H-204 2.28
3H-205, 2H-205, 3L-05, 2L-05,
FL1-05A24 - 110 82.6 63.513| 96 - 15 M10 M6 31-05, 2.05 0.65
FL3-05A25 135 110 82.6 82.563 104.8 6 30 M10 M10 3H-205, 2H-205, 3L-05, 2L-05 1.99
I 2H-206, 4H-06, 3H-206, 3P-06, 2P-06, 3M-06, 2M-06,
FL1-06A’5 - 140 104.8 82.563 116 - M10 me 3E-06, 3D-06, 2D-06, 3N-06, 3)-06, 2)-06 0.96
*18 *31-206, *2L-206
FL3-06A:6 165 140 104.8 1063751334 6 35 M10 m12 21206, 4H-06, 3H-206, 3L-206, 2L-206, 3P-06, 2P-06, 3.12

3M-06, 2M-06, 3E-06, 3D-06, 2D-06, 3N-06, 3J-06, 2J-06
3H-208, 2H-208, 4H-08, 3L-208, 2L-208, 3P-08, 2P-08,
FL2-08A:5 - 170 133.4 82.563 104.8 - 23 M12 M10 3M-08, 2M-08, 4T-08, 3E-08, 3D-08, 2D-08, 3N-08, 2.7
31-08, 21-08, 3R-08, 3W-08, 3Q-08

- 2H-208, 4H-08, 3H-208, 3P-08, 2P-08, 3M-08, 2M-08, 4T-08,
FL1-08A6 | - 170 133.4106.375 150 - M12 M6 3E-08,3D-08, 2D-08, 3N-08, 3)-08, 2)-08, 3R-08, 3W-08,3Q-08 | 1 55

*23 *3L-208, *2L-208

2H-10, 4H-10, 3P-10, 2P-10, 3M-10, 2M-10,
3H-12, 2H-12, 4H-12, 3L-212, 21-12, 3P-12, 2P-12, 3M-12,
FL-0M6 | - 2201714106375 1334 - 25 M16 M12 O o o o 10, aN-10. 3110, 210, | 502
3R-10, 3Q-10, 3W-10, 3W-12

2H-10, 4H-10, 3H-210, 3L-210, 2L-210, 3P-10, 2P-10, 3M-10,
2M-10, 3H-12, 2H-12, 4H-12, 3L-212, 21-12, 3P-12, 2P-12,
FLI-I0A8 | - 220171.4139.719 190 - 18 M16 M8 o 00 o e 10, 3D-10, 2D-10, 3N-10, 2.73
3)-10, 2)-10, 3R-10, 3Q-10, 3Q-12, 3W-10, 3W-12

3H-15, 3H-212, 2H-15, 4H-15, 31-15, 2L-15, 3P-215, 2P-15,

FL-15A8 | - 1300 235 1397191714 - 33 M20 M16 ot s 0t o ats, apo1s 12.52
FL1-15A211 - 300 235 196.869 260 - 22 M20 M10 iHmllss,?;vgi:f:;:llss :’H: g;ﬁ;mli S 6.03

3 FL2-21A:8 - 380330.2139.719171.4 - 33 M24 M16 3H-215, 3P-221,3P-224 22.05

5 40 3H-215

> FL2-21A211 - 380330.2196.869 235 - M24 M20 16.28

z *27 *3P-221, *3P-224

2 FL1-21A215 - 380330.2285.775330.2 - 27 M24 M12 3H-215, 3H-18B, 3H-221, 3P-221, 3P-224 8.6

g FL2-40A215 - 520 463.6285.775330.2 - 40 M24 M24 3H-224 43.26

% FL1-40A220 - 520 463.6412.775463.6 - 27 M24 M12 3H-224,3H-232 13.55

1. Models with * mark are producted only by order.
89 AUTOGRIP WWW.AUTOGRIP.COM.TW



’ CT/CT'S COOLANT COLLECTOR WITH STROKE CONTROL

® The proximity switch is optional.

- & Model Power supply Switching cap. Output tpye

.\ IFS287 (IFM) | DC 10/30V 100mA NPN
e

B Terminal Connections

Model +V oP1 ov
IFS287 (IFM) BROWN BLACK BLUE
+ tv +DC10~30V
OUTPUT
_ OP1
LOAD
e = oV ® OVDC
cT CT-S
bl 4.0
Lol g i) ‘ .
ZERE S il
© < 1
Be=a
®\&j/ { 7| m n
U
w 4= )
F 4]
\\F C ki) N
, U
e \ b
< {F
== CT-04/05:
PT3/4”
233 15 D X
(CT-04/05: @26.5) c == ==
(CT-28/28S: @60)
Coolant Collector Coolant Collector with Detecting Ring
Subject to technical changes
DIMENSIONS
Weight (kg)
Model A B C D E F G Matching cyl.
cT CT-S
CT-04/CT-04S 87 110 60 29 110 57 79 0.9 1.1 TH-428
CT-05/CT-05S 87 110 60 29 110 57 84 0.9 1.1 TH-A536, TK-A528, TK-A533
CT-06/CT-06S 100 125 74 36 120 64.5 94 1.2 1.6 TK-C643, TK-A646, TK-B646, TK-C646
CT-08/CT-08S 110 138 80 39 130 71 105 1.3 1.8 TK-B846, TK-A853, TK-B853
CT-K10/CT-K10S 158 185 88 43 160 94.5 145 1.9 2.6 TK-1068, TK-A1075, TK-A1078
CT-12/CT-12S 158 185 88 43 160 94.5 145 1.9 2.6 TK-A1287, TK-A1291 g
e
CT-15/CT-15S 206 235 100 50 210 121 190 3.1 4.3 TK-A1511, TK-A1512 E
=2
CT-21/CT-21S 226 255 100 50 210 131 210 3.3 4.6 TK-2114 )U>
(@)
CT-24/CT-24S 250 270 100 50 230 154 248 3.5 5.5 TK-2416, TK-2416L a
wv
CT-28/CT-28S 310 330 100 50 260 181 305 4.3 7.2 TK-2820 g
m
(2]

WWW.AUTOGRIP.COM.TW AUTOGRIP 90



’ CT-SO08B/CT-SO08BS COOLANT COLLECTOR WITH STROKE CONTROL

® The proximity switch is optional.
e Drain port @40 and @60 are optional product.

Model Power supply Switching cap. Output tpye
IFS287 (IFM) DC 10/30V 100mA NPN

B Terminal Connections

Model +V orP1 ov
IFS287 (IFM) BROWN BLACK BLUE
+ v +DC10~30V
OUTPUT
_ OP1
LOAD
— = oV ® OVDC
CT-S08B CT-S08BS
g
= & &t
I =
—f
G1 m|<
240 A » A
@40 Drain port w i
R =3 ;=%
T i L
DA g .
1 Iy i T M
o \& 1.5 D
233
260 c
@60 Drain port
Coolant Collector Coolant Collector with Detecting Ring
Subject to technical changes
DIMENSIONS
Weight (kg) ‘
Model A B C D E F F1  F2 G Gl G2 H J Matching cyl.
CT-SB | CT-SBS ‘

NEW CT-SO8B/CT-SO8BS 133 160 82 | 40 130 49.6 56 63 25 32 52 82 130 09 1.4  TS-866 ‘

©
>
=
—
v
>
=2
O
>
(@]
(@]
m
%3
74}
o
22
m
%

91 AUTOGRIP WWW.AUTOGRIP.COM.TW



’ FV-01 STATIONARY CYLINDER LOCK VALVE FOR

AIR STATIONARY CHUCK Accessories
ggr'\:\?/ hole 20 +0.2 0
| ~
= & DHD A1 C1 B1
L B J%
‘ R - L
M A M ACE
A c RC1/8 Circuit drawing
Airtight detection port
L] S
\S2%
(D) A _2
T e
A1 C1 'B1
45 +0.2 305
70

Subject to technical changes

’ VH-201  HAND OPERATED AR VALVE Accessories

Hand operated air valve

Open
Close
ouT
IN
Air combination unit
Assembly drawing

0
>
o)
Subject to technical changes ﬂ
Max. pressure JZ>
‘ MPa'(kgf/cmz) Operating angle Port size ‘ ;
1.0(10) 90° Rcl/4 ‘ o
é
zZ
a

WWW.AUTOGRIP.COM.TW AUTOGRIP 92



o
>
Bl
_‘
w
>
=2
O
>
(@)
(@]
m
193
17}
o
=
m
%

A DRAW TUBE

THE CALCULATION OF DRAW TUBE LENGTH

5.

L=A+G2max.+H-G1max.+M2+M3

£
M1 UEJ K max.
= i
-
% M2 _I-|_1
L

Detail of Draw Tube

Subject to technical changes

CylindeT

Piston

Cylinder Adaptor

Chuck Adaptor

Draw Pipe

SPECIFICATIONS
Gl G2 o1 K E
Chuck type Cylinder type H M3 | M2 M1 H1 L
max. max. (f7) max. min.
3H12 A8 TKAI201 30 23 12 35 28 Mooz 35 95 003 miooe s A+56+12
3H15 ALl TKAISI2 | 30 33 12 45 33 MI130 45 125 0083 M3 5 A+81+12
3H18 ALl TK-AISI2 30 33 12 45 33 MI3ox2 45 125 0083 miso s A+81+12
Gl G2 o1 K E
Chuck type Cylinder type . H M3 | M2 . M1 H1 1 o i L
3H204 A4 TKAS28 12 145 10 25 3L5  M38L5 20 35 002  M4Ox5 5 A+59+10
3H205 A4 TKAS33 12 17 10 25 16 M38LS5 25 35 00  MASAS 5 A+46+10
3H206 A5 TK-AG46 15 14 10 25 28 MSS2 20 55 002 | MEOx2 5 A+52+12
3H208 A6 TK-AS53 | 20 165 12 30 335  M6Ox2 20 55 003 M7Sx2 5 A+60+12
3H210 A8 TK-AI075 25 21 12 35 285 M8 25 80 002 | M9 5 A+59.5+12
3H212 ALl TKAI201 30 23 12 35 32 MI00x2 30 95 0030  mis2 5 A+60+12
3H215 A8 TKAIS12 30 33 12 45 44 MI30x2 40 120 0030 musad 5 A+92+12
3H215 ALl TKAIS12 30 33 12 45 51 MI30x2 40 120 0030  MIsS3 5 A+99+12
3H215 Al5 TKAIS12 30 33 12 45 38 MI30x2 40 120 0030  wmissad 5 A+86+12
3H-188 Al5 TKAIS12 30 35 12 45 45  MI30x2 40 120 0030 M17s3 5 A+95+12
3H221 Al5 TKAIS12 30 34 12 45 42 MI30x2 40 120 093%  mio03 5 A+91+12
3H224 A20 TKAIS12 30 35 12 45 42 MI30x2 40 120 0035 M2253 5 A+92+12
3H232 A20 TK2820 51 37 17 45 51 M20x3 45 210 0050 M2953 5 A+82+17
Note:To calculate the draw-tube length of 2H,4H as 3H ~ 3H-2.
93 AUTOGRIP WWW.AUTOGRIP.COM.TW



BRI R E
’ DRAw BAR THEiLCUL:A'\:TIC\)T\IgF%R:\'/_\/ BAR LENGTH

Cylinder Adaptor Draw Pipe Chuck Adaptor
\ BEE LB HI1g HRERIEFER
L

K1 K2 = N
/[ /]
] 7/ o [/
a 7] - — [ ] £ ‘
I it i
C B | %Eiﬂ—% // // i
Cylinder
L el T J*TJ /f
_
G1 max. (3P-04,3P-05)
hE 1258 Detail of Draw Bar

L=A-G1max.-G2min.-4+C A

IRBBAEE AR
Subject to technical changes

iR & SPECIFICATIONS

HegAAY, TEFIAT Gl G2
B C D K1 K2 L

Chuck type Cylinder type max. min.

3P-04 RK-75(N)/RA-130 30 30/20 | 30/25 45 3 M20x2.5/M16x2 M10x1.5 A-22/A-32
3P-05 RK-75(N)/RA-130 40 30/20 | 30/25 45 -6 M20x2.5/M16x2 M12x1.75 A-13/A-23
3P-06 RK-100(N)/RA-170 40 30/25 | 30/25 45 81.5 M20x2.5/M16x2 M16x2 A-101/A-106
3P-08 RK-125(N)/RA-220 40 40/30 | 35/30 50 106 M24x3/M20x2.5 M20x2.5 A-120/A-130
3P-10 RK-125(N)/RA-220 40 40/30 | 35/30 50 133 M24x3/M20x2.5 M20x2.5 A-147/A-157
3P-12 RK-150(N)/RA-270 40 40/35 | 45/35 55 133 M30x3.5/M24x3 M20x2.5 A-152/A-157
3pP-215 RK-200(N)/RH-200 60 55 55 70 69 M36x4 M30x3.5 A-88
3P-218 RK-200(N)/RH-200 60 55 55 70 57 M36x4 M30x3.5 A-76
3pP-221 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
3pP-224 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81

5 2P B ZHIE REETERE 3P 25 - (Note:To calculate the draw-bar length of 2P as 3P)

FEFRE T WEFE G1 G2
B C D K1 K2 L

Chuck type Cylinder type max. min.

3M-05 RK-75(N) 40 30 30 45 -2 M20x2.5 M12x1.75 A-17
3M-06 RK-100(N) 40 30 30 45 81.5 M20x2.5 M16x2 A-101
3M-08 RK-125(N) 40 40 35 50 106 M24x3.0 M20x2.5 A-120
3M-10 RK-150(N) 40 40 35 50 135 M24x3.0 M20x2.5 A-148
3M-12 RK-150(N) 50 40 45 55 40 M30x3.5 M24x3 A-59

5 2M B ZHERESTER 3M 823 - (Note:To calculate the draw-bar length of 2M as 3M.)

m?
%
£

\
/A

It

\|
/)

=

AUTOGRIP 94



